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Which oligopoly model(s) have

the same results as the

competitive model ?
(1) Cournot

(2) Bertrand

(3) Stackelberg

(4) Both Cournot and
Stackelberg

In comparing the Cournot

equilibrium with the competitive

equilibrium,

(1) Both profit and output level
are higher in Cournot.

(2) Both profit and output level
are higher in competitive
model.

(8) Profit is higher and output
level is lower in the
competitive equilibrium.

(4) Profit is higher and output
level is lower in Cournot.

A situation in which each firm is
doing the best it can give what its

rivals are doing is called a —

(1) Nash equilibrium

(2) Co-operative equilibrium
(3) Non-cooperative equilibrium

(4) Stackelberg equilibrium
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Some grocery stores are now
offering customers coupons which
entitle them to a discount on
certain items on their next visit
when they go through the
checkout line. This practice is an
example of —
(1) Intertemporal
discrimination.
(2) Third degree
discrimination.
(3) A two-part tariff
(4) Bundling

price

price

If the regulatory agency sets a
price whose AR=AC for a Natural
Monopoly, output will be —

(1) equal to the
level.

competitive

(2) equal to the monopoly profit
maximizing level.

(8) greater than the monopoly
profit maximization level and
less than the competitive
level.

(4) greater than competitive

level.

An Electric Power Company uses
block pricing for electricity sales.
Block pricing is an example of —

(1) First degree price
discrimination.

(2) Second degree price
discrimination.

(3) Third degree price
discrimination.

(4) Block pricing is not a type of
price discrimination.
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Which of the following strategies
are used by business firms to
capture consumer surplus ?

(1) Price discrimination

(2) Bundling

(3) Two-part tariffs

(4) All of these

The more elastic the demand

curve facing a firm —

(1) the higher the value of the
Lerner index.

(2) the lower the value of the
Lerner index.

(3)

4)

the less monopoly power it
has.
the higher its profit.
Monopoly power results from the
ability to —
(1)

Set price equal to marginal
cost.

(2) Equate marginal cost to

marginal revenue.
Set price
variable cost.

3) above

average
(4) Set price above marginal
cost.

Which of the following is true at
the output level when P = MC ?
(1) The Monopolist is
maximizing profit.

The Monopolist is not
maximizing profit and should
increase output.

The Monopolist is not
maximizing profit and should
decrease output.

The Monopolist is earrii.ng a
positive profit.

@)

3)

4)
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11.

12.

13.

A firm producer surplus equals
its economic profit when

(1) Average variable cost are
minimized.

(2) Average
minimized.

(3) Marginal costs are equal to
marginal revenue.

(4) Fixed costs are zero.

fixed costs are

In the short run, a perfectly
competitive firm earning negative
economic profit is —

(1) on the downward-sloping
portion of its ATC curve.

at the minimum point of its
ATC curve.

on the wupward sloping
portion of its ATC curve.

above its ATC curve.

)
3
4)

A Cobb-Douglas

function —

(1) exhibits constant returns to
scale.

(2) exhibits increasing returns to
scale.

3

)

production

exhibits decreasing returns
to scale.

exhibits constant, increasing
or decreasing returns to
scale.

Economies of Scope refer to
(1) Change in technology
(2) The very long run

(3) Multi product firm

(4) Single product firm that
utilize multi plants
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The cost-output elasticity equals
1.4. This implies that

(1) there are economies of scale.

(2) there are diseconomies of
scale.

(8) there are neither economies
nor diseconomies of scale.

(4) marginal cost is less than the
average cost.

Which of the following is NOT an
expression for the cost minimizing
combination of inputs ?

MRTS =~k
1 =
@ MP,

MPL MPK
@ =gi=

r
(3) MRTS = %

MP; w
@ M =

r

The difference between the
Economic and Accounting Costs
of a firm are

(1) the explicit costs of the firm.

(2) the Corporate
profit.

(3) the opportunity costs of the
factors of production that the
firm owns.

(4) the sunk costs incurred by
the firm.

Taxes on
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18.

19.

20.

A firm marginal product of labour
is 4 and its marginal product of
capital is 5. If then the firm adds
one unit of labour, but does not
want its output to change, the
firm should

1
@)
3

use five fewer units of capital
use 0.8 fewer units of capital

use 1.25 fewer wunits of

capital

(4) add 1.25 units of capital

The optimum level of pollution

emissions —

(1) 1is zero

(2) occurs where the marginal
external benefit is zero.

(3) occurs where marginal

external cost equals the

marginal external benefit.

occurs where the marginal

external cost equals the

marginal cost of abatement.

When  sellers have more
information about the product
than buyers do, we would expect
(1) Sellers to get higher price for
their goods than they could
otherwise.

Buyers to pay lower prices for
goods than they would
otherwise.

High quality goods to drive
low quality goods out of the
market.

Low quality goods to drive
high quality goods out of the
market.

(4)

@)

3

(4)
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21.

22.

23.

24,

Which of the following represent
example(s) of Adverse Selection ?

(1) Unhealthy people are more

likely to want health
insurance.

(2) Carless drivers purchasing
extra auto-insurance.

(3 Risk averse individuals
choosing to buy extra
insurance.

(4) (1) and (2) only.

The market period supply curve
for perishable goods is —

(1) Relatively inelastic
(2) Perfectly inelastic
(3) Relatively elastic
(4) Perfectly elastic

The Engel curve for a Giffin good
is —

(1) Negatively sloped

(2) Positively sloped

(3) Vertical

(4) Horizontal

The minimum point on short-run
average total cost (SATC) curve
reflects

(1) The plant is under utilized.
(2) The plant is over utilized.

(3) The ©plant is
utilized.

The plant used optimal
combination of fixed and
variable factors.

optimally

(4)
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25.

26.

27.

If two commodities are perfect
substitute, the indifference curve
becomes —
(1) A straight line
positive slope.
(2) A straight
negative slope.
(3) A horizontal line.
(4) A convex curve.

with a

line with a

Asymmetric information problem

arise —

(1) In horizontally integrated
firms but not vertically
integrated firm.

(2) In vertically integrated firm,
but not horizontally

integrated firm.

In both wvertically and
horizontally integrated firm.

Only in firms that do not
have the advantages of either
horizontal or vertical
integration.

C)

(4)

Giffin’s Paradox refers to a good
whose —

)

quantity demanded varies
directly with price.

)

quantity demanded varies
indirectly with price.

(3) quantity demanded varies
directly with income.
4)

quantity demanded varies
indirectly with income.
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| 31.

28. Gross Fixed Capital Formation is

the other part of investment
along with the part as —

(1) Change in stock
(2) Change in flow
(3) Net fixed capital
(4) Depreciation

In a fractional Reserve Banking
system, an increase in reserve
requirements —

(1) increases both
multiplier and
supply.

(2) decreases both

multiplier and

supply.
increases the money
multiplier but decreases the
money supply.

decreases the money

multiplier but increases the

money supply.

the
the

money
money

the
the

money
money

3

@

The Economys two most

important financial markets are —

(1) The Investment market and
the Saving market.

(2) The Bond market and the
Stock market.

(3) Banks and the Stock market.

(4) All of these

Market Economics rely on which
of the following to allocate scarce
resources ?

(1) Government

(2) Consumers

(3 Relative prices
(4) Real interest rates
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32.

33.

34.

35.

Which of the following is NOT a
determinant of the long run level
of real GDP ?

(1) The Price level.

(2) The Supply of Labour.

(8) Available Natural Resources.
(4) Available Technology.

The Wealth effect, Interest rate
effect and Exchange rate effect
are all explanations for —
(1) The slope of short
aggregate supply.
The slope of
aggregate supply.
The slope of the aggregate
demand curve.

Everything that makes the
aggregate demand curve

shift.

run
)
3)
4

long run

Which of the following adjust to

bring aggregate supply and

demand into balance ?

(1) The price level and real
output.

(2) The real rate of interest and
money supply.

(8) Government expenditure and

taxes.

(4) The saving rate and Net

exports.

During recessions —

(1) Workers are laid off.

(2) Factories are idle.

(3) Firms may find that they are

unable to sell all they
produce.

(4) All of these
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36. The deviation of unemployment

37.

38.

from its natural rate is called

(1) The Nominal rate
unemployment.

(2) Frictional unemployment.

(3) Cyclical unemployment.

(4) Fluctuating unemployment.

of

Which of the following is correct ?

(1) Labour Force = Number of

employed.

(2) Labour Force = Population
minus number of
unemployed.

(3) Unemployment rate =

Number of unemployed

No.of employed +
No. of unemployed

x 1

(4) Unemployment Rate =

No. of unemployed
Adult population

x 100

When price level is fixed in
Keynsian model —

(1) An increase in money supply
increases level of income and
reduce rate of interest.

(2) A fall in money supply
increase level of income and

reduce the rate of interest.
(3) An increase in money supply
reduces the level of income

and rate of interest.

(4) An increase in money supply
increase the level of income
and rate of interest.
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| 89. The

40.

LM curve has been
contributed to macroeconomics by

(1) Hausen
(2) Friedman
(3) Tobin

(4) Hicks

If Nominal GDP is $ 10 Trillion
and Real GDP is $ 12 Trillion,
then the GDP deflator is —

(1) 83.33 and this indicate that
the price level has decreased
by 16.67% since the base
year.

83.33 and this indicate the
price level has increased by

)

83.33% since the base year.

120 and this indicates that
the price level has increased

3

by 20% since the base year.

120 and this indicate that the
price level has increased by
120% since the base year.

(4)

With the help of marginal
efficiency of capital theory, we
determine —

(1) The  Actual Stock of
Investment.

(2) The Actual Stock of Savings.

(8) The Optimum Stock of
Investment.

(4) The Optimum Stock of
Capital.
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42. The

43.

44.

45.

transaction demand for
money depends not only on
income but also on rate of
interest. This is according to —

(1) Tobin

(2) Milton Friedman

(3) J.M. Keynes

(4) Irving Fisher

In short run, a Linear
Consumption Function show that —

(1) MPC declines but APC is
constant as income rises.

MPC is constant but APC
declines as income rises.

MPC and APC declines as

income rises.

MPC and APC remains
constant as income rises.

2)
®3)

(4)

Shri V.K.R.V. Rao was the person
to make an estimation of the
National Income for the year —

(1) 1910-11

(2) 1923 -24

(3) 1931 - 32

(4) 1943 — 44

The Chief object of the Per Capita
Income calculation is that

(1) It helps us calculate the Total
National Income.

It helps us about calculating
individual progress made by
citizens.

It helps us to measure
economic progress in terms of
goods and services available
per head.

It helps us to improve taxes
on the individuals.

)

®3)

4
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47.

48.

57
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46.

47.

48.

The National Income Committee
set up by the government in
August 1949, for calculation of
the National Income, adopted

(1) The product method of
calculating National Income.

(2) The expenditure method of

calculating National Income.

(3) The income and expenditure
method only discarding the

Product method.

The product and income
methods only discarding the
expenditure method.

4)

Inflationary gap refers to excess
of aggregate
aggregate supply at

demand over

(1) Full employment level
(2) After full employment level
(3) Before full employment level

(4) Both (1) and (2)

Changes in the Portfolio assets of
the people take place due to —

(1)
)
3

Current rate of interest.
Future rate of interest.

Current rate of interest in
relation to future rate of
interest.

(4)

Current prices of bonds.
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51.
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49. Consider

50.

the following

statements :

I. Rate of growth of GDP
exhibits the performance of
the Economy.

II. Per cdpita Domestic income
shows the standard of living
of the people in a country.

Which of the statements given
above is/are correct ?

(1) OnlyI

(2) OnlyII

(3) BothIandII
(4) Neither I nor II

Assertion (A) : Friedman treats
Money as a luxury good.

Reason (R) : It serves as a
Medium of Exchange.

Codes :

(1) Both (A) and (R) are true and

(R) is the correct explanation
of (A).

Both (A) and (R) are true but
(R) is not the correct
explanation of (A).

(A) is true but (R) is false.

(A) is false but (R) is true.

)

®3)
(4)

. The saving function used in the

neo-classical growth model is —
(1) Classical saving function

(2) Proportional saving function
(3) Differential saving function
(4) Constant saving function
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52.

53.

54.

85.

57
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17.

52.

53.

54.

55.

Which among the following
theory/approach does not treat
consumption to depend upon
expected income ?

(1) Keynes’ approach

(2) Friedman’s approach
(3) Life cycle approach
(4) Both (2) and (8)

If Economy is operating at
potential GDP, an increase in
money supply will lead to —

(1) Stagflation

(2) Structural inflation
(3) Demand pull inflation
(4) Cost-push inflation

Philips curve sets up a relation
between :

(1) Taxes and inflation

(2) Inflation and unemployment

(3) Money supply and Aggregate
demand

(4) Price and cost of production

Consider the following statements :

I. According to Keynes, as
income rises, lower
proportion of income is spent
on consumption.

II. According to Kuznets, as
income rises, theé average
propensity to save remains
fairly stable and constant.

Which of the above statement(s)

is/are correct ?

(1) BothI and II are true.

(2) Neither I nor II is correct.

(3) Only I is true.

(4) Only II is true.
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56. Consider the following

57.

68.

statements :

I. The Repo rate is the rate at
which other banks borrow
from the Central Bank of a
Country.

II. A value of 1 for Ginj
coefficient in a country
implies that there is perfectly
equality is income
distribution.

Which among the above is/are

correct ?

(1) II only

(2) Ionly

(3) BothIandII

(4) Neither I nor II

Assertion (A) : APC can never
be zero while it can be
greater than 1.

Reason (R) Consumption
expenditure is always
positive even if income is
zZero. »

In the context of above two

statements, which one of the

following is correct ? '

Codes :

(1) Both (A) and (R) are true and
(R) is the correct explanation
of (A).

(2) Both (A) and (R) are true, but
(R) is the not the correct
explanation of (A).

(3) (A)is true, and (R) is false.

(4) (R)is true, and (A) is false.

The slope of the IS curve depends

upon —

(1) The level of Government
expenditure.

(2) The sensitivity of demand for
real money balance to the
interest rate.

(3) The interest sensitivity of
investment.

(4) None of these
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59.

60.

. Who

Assertion (A)
Accelerator

: According to
Theory of
Investment, when
consumption or  income
increases, investment would
also increase.

Reason (R) The theory
assumes that there is excess
capacity in the Economy.

Select the correct answer from

the codes given below :

Codes:

(1) Both (A) and (R) are true and

(R) is the correct explanation

of (A).

Both (A) and (R) are true, but

(R) is the not the correct

explanation of (A).

(A) is true, but (R) is false.

(A) is false, but (R) is true.

@)

3
@

The negative relationship
between the gap between actual
GDP and its trend value and the
difference between actual
unemployment rate and its
equilibrium value is called

(1) The aggregate supply curve
(2) The Philips curve

(38) The natural rate of

unemployment hypothesis
(4) Okun’s Law

amongst the following
economists  imparted money
demand of a portfolio theory
approach ?

I. J.M. Keynes

II. Baumol

III. James Tobin

IV. Milton Friedman

Codes :
A LI (2 IIL IV
@3) L II, IT1 (4) II III, IV
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63.

64.
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62. Single out the activity that is not

63.

64.

included in the industrial
production Index of India.

(1) Manufacturing
(2) Construction
(3) Mining

(4) Electricity

The features of classical system
are —

I. Monetary factors determine
output and employment.

II. Self adjustment mechanism
of the economy.

ITI. State action to
development.

direct

IV. Optimization through market
in the absence of state
control.

Codes:

(1) Iand IT

(2) L II and III
3) IIandIV
4) LIIandIV

Which of the following
components of aggregate demand
is self terminating and self
financing ?

(1) Investment expenditure.

(2) Durable consumption
expenditure.

(3) Non-durable consumption
expenditure.

(4) Government expenditure.
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65.

66.

67.

Who made the statement,
“Inflation is everywhere and
always a monetary phenomenon” ?

(1) Milton Friedman
(2) James Tobin

3) T.W. Swan

(4) A.W. Philips

According to classical economists
(1) Say’s Law is not valid.

(2) Unemployment will not be a
serious problem in a market
economy.

levels

(3) Wage

‘Sticky’.

Demand stimulus is needed
to produce full employment.

are always

(4)

Match the correct pair from
List —T and List - II :

List-1I List - 11
A. Monetarism I. R.F.Kahn
B. Employment II. T.Havelmo

Multiplier

C. Multiplier ITI. John Muth
effect of
balanced
budget

D. Rational IV. Milton
expectation Friedman
hypothesis

Codes :
A B C D

1) II 1IVv 11 1

@ Iv I 1 111

@G I I v 1

4 IIm o 1 1w
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69.

-3
e

l 68. Identify the correct chronological

order of the following theories —

A. Cambridge version
Quantity Theory of Money.

B. Fisher’s version of Quantity
Theory of Money.

C. Tobin’s theory of demand for
Money.

D. Baumol’s theory of demand
for Money.

Codes :

1) C,D,AB

2 B,AD,C

3) D,A B, C

4 A,BCD

Assertion (A) There is a
natural tendency to collude
under oligopoly.

Reason (R) : Interdependence of
firms in oligopolistic
markets. '

Codes :

(1) Both (A) and (R) are correct,

but R) is not correct

explanation of (A).

Both (A) and (R) are correct,

and (R) is correct explanation
of (A).

of

)

(3 (A) is correct, but R) is
incorrect.

(4) (A) is incorrect, but ®R) is
correct.

When income effect becomes
stronger than substitution effect,
the labour supply curve will —

(1) Slope positively
(2) Negatively sloped
(3) Backward bending
(4) Climb upwards
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71.

72,

73.

IS-LM
the

In the context of
framework, which of
following statement is false ?

(1) IS curve is steeper, the lower
the value of the Keynesian
Multiplier and the lower the
interest sensitivity of
investment demand.
Crowding out is effective
when money demand is
perfectly interest inelastic
and investment is perfectly
interest elastic.

The fiscal policy is least
effective and monetary policy
is most effective, the higher
the interest sensitivity of
money demand and the lower
the interest sensitivity of
investment demand.

The Pigou effect restores the
effectiveness of monetary
policy even under the
liquidity trap.

()

3)

(4)

The essential condition of
equilibrium in a two-sector model is

(1) Saving + Tax = Investment +
Government Expenditure

(2) Saving = Investment
(3) Exports = Imports
(4) Taxes = Government expenditure

Fiat money is backed by legal

tender power which means —

(1) That in the eye of law, it is
not a black money.

(2) That in the eye of law this

money belongs to a certain

person.

(3) That the said currency is
enforced by law.

(4) That the same currency can

be withdrawn by government
orders.
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74. The real balance effect was put

75.

76.

77.

forward by —

(1) Milton Friedman
(2) J.M. Keynes

(3) A.C. Pigou

(4) None of these

The term Macro-Economics was
coined and used for the first time
by -

(1) Ragnor Nurkse
(2) Ragnor Frisch
3) J.S.Mil
(4) Ricardo

In investment criteria shadow

prices are the prices ;

(1) in black market parallel to
controlled prices.

(2) fixed by the government

without a consideration of

cost of production.

which reveals true scarcity

value of goods and factor

Inputs.

at which goods and factors

are not available.

3)

(4)

The features of the -classical

. system are

(A) Monetary factors determine
output and employment.

(B) Self-adjusting mechanism of
the Economy.

(C) State action to
development.

(D) Optimization through market
in the absence of State
control.

Codes :

(1) (A) and (B)

(2) (A), (B) and (C)

(3) (B) and (D)

(4) (A), (B) and (D)

direct
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78.

79.

80.

The full capacity growth rate in
Harrod-Domar Model is
known as :

also

(1) Actual growth rate

(2) Warranted growth rate
(3) Natural growth rate
(4) Expected growth rate

Components of PQLI

I. Morbidity

II. Infant Mortality

III. Life expectancy at age one
IV. Basic literacy at age 15
Codes:

(1) I, III and IV are correct.
(2) III, IT and IV are correct.
(3) I, II and III are correct.
(4) IV, I and II are correct.

Inventors of HDI are

I. Harris — Todara

II. Meghnad — Desai

III. Robert Solow

IV. Amartya Sen

Codes :

(1) I andII are correct.
(2) I and III are correct.
(3) III and IV are correct.
(4) II and IV are correct.
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82.

83.

84.
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81.

82.

83.

84.

The capacity creating aspect of
investment in growth theory was
emphasised by

(1) R.F. Harrod
(2) E.D. Domar
(3) R.M. Solow
(4) P.A. Samuelson

Meeting the needs of present
generation without compromising
the needs of future generation is —

(1) Economic Development
(2) Social Development

(3) Sustainable Development
(4) Economic Growth

Frictional unemployment is also
known as —

(1) Diguised unemployment

(2) Turnover unemployment

(3) Cyclical unemployment

(4) Structural unemployment

Arrange in ascending
chronological order the following
consumption hypotheses in which
they appeared in the Economic
Literature :

A. Absolute Income Hypothesis
B. Permanent Income Hypothesis
C. Life Cycle Hypothesis

D. Relative Income Hypothesis
Codes :
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86.

87.
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85.

86.

87.

Arrange the stages of Economic
growth in a sequential order.

I. The age
consumption

II. The traditional society
III. The take off stage

IV. The drive to maturity
Codes :

1 I I v 11

@ I IVv 1 1m
G Iom 1 1mI Iv
4 II III IV 1

of high mass

The unbalanced growth model
was propounded first by

I. Albert O. Hirschman

II. HS. Singar and Raul
Prebisch

III. Kindelberger
Nurkse

IV. WW. Rostow
Streeten

Codes :

(1) TandII
(2) TandIII
@B) IandIV
@I

and Ragnar

and Paul

In whose
entrepreneur’s
pivotal ?

(1) Keynes
(2) Schumpeter
(3) Harrod
(4) Domar

growth  model,
significance is
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89.

90.
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S % @t @ B ugEm, e
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(1) IamIl

(2 Il
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88. The premise that benefit of

89.

90.

economic growth will reach all
sections of population is called —

(1) Trickle up effect
(2) Trickle down effect
(3) Take-off effect

(4) Backlash effect

Labour theory of value was
propounded by

I. Adam Smith
II. David Ricardo

ITI. Ragnor  Nurkse,
Myrdal, Solow

IV. Fei-Ranis, Ragnor Nurkse
Codes :

(1) TandII

(2) Tand III

3) L II and III

4) L1IL IIT and IV

Gunnar

Classical dichotomy refers to
which one of the following ?

(1) There are two sectors of the
Economy, namely,
Agriculture and Industry.

(2) Influence of Money is not on
the real variables like
unemployment and output

but on price level.

(8) Savings comes only from
profits and not from the

wages.

(4) All of these
57



91.

92.

93.
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s |
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29

91.

92.

93.

Solow built his model as an
alternative to —

(1) Kaldor’s model of growth
(2) Ranis-Fei model of growth

(3) Harrod-Domar
growth

model of

(4) Mead’s model of growth

critical
minimum effort thesis treats
population as a factor that is

Leibenstein in  his

(1) Investment inducing
(2) Income generating
(3) Market expanding

(4) Income depressing

In the context of project
evaluation, the net present value

method mainly depends upon :

(1) Interest rate prevalent at a
given time.

(2) Exchange rate prevalent at a
given time.

(8) Sales tax rate prevalent at a
given time.

(4) Both income and sales-tax
rates prevalent at a given
time.
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95.
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94. Consider the following statements

95.

about the Lorenz curve.

I. The degree of income
inequality will be higher,
Farther the Lorenz curve is
from the line of equal
distribution.

The limits of Lorenz ratio (L)
are-1<L<1.

The degree income inequality
will be lower, closer the

Lorenz curve in to the line of
equal distribution.

Select the correct answer from
the codes given below.

Codes :

(1) OnlyI
(2 ITandII
(3) Iand Il
(4) OnlyII

IL.

III.

According to Nurkse’s vicious

circle of poverty in the context of

an  underdeveloped country,

investment is limited by —

(1) Size of the Market

(2) Policy of the Government

(3) Lack of investment
opportunities

(4) Lack of savings

. With capital-labour ratio remains

constant, if the marginal rate of
technical substitution declines,
the Hicks technical progress is
said to be

(1) Labour saving
(2) Labour using
(3) Neutral

(4) Both (1) and (2)
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98.

99.

100.

57
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100.

In the classical theory of
development, wage rate is
determined by which among the
following ?

(1) The King

(2) Demand and Supply
(3) Availability of Surplus
(4) Collective Bargaining

In. the Harrod-Domar equation

g= % where V is defined as

(1) The value of country’s capital
stock.

(2) Incremental capital-output
ratio.
(8) The change in country’s

capital stock.
None of these

4

The basic rationale of the theory
of ‘Big Push’ is based upon the
idea of

(1) Size of Population
(2) External Economies
(3) Internal Economies
(4) None of these

Who argued that Keynes’ theory
of equilibrium with involuntary
unemployment is a special case of
the general equilibrium model,
augmented to include money ?

(1) W. Leontief
(2) J.R. Hicks
(8) Milton Friedman
(4) D. Patinkin
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101.

102.

103.

Adam Smith advocated which of
the following ?

I Laissez-Fa:ire;

II. The invisible hand
IIL. Free trade Policy

IV. Competitive Markets

Choose the correct answer from
the code given below.

(1) Tand IT

(2) II and III

(3) L II and III

(4) LII III and IV

If the central prediction of the
growth model of Solow is valid
then :

(1) Per Capita Real GDP
difference among nations will
increase.

Per Capita Real GDP
difference among Nations
will diminish.
Economic
measured
Foundation
decrease.
Population growth rate in
rich countries will increase.

@

freedom
by
Index

as
Heritage
will

3)

4)

Which among the following
economists advocated the use of
Social Marginal productivity
Criterian ?

(1) Hollis B. Chenery
(2) AK. Sen

(3) Maurice Dobb

(4) J.J. Polak
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104. Which among the following is not

105.

106.

correctly matched ?
Concepts Economists

(1) New — Robert Lucas
Classical
Economics

(2) Multiple — T.H. Havelmo
effects of
Balanced
Budget

(3) New — Paul Romer
Keynesian
Economics

(4) Permanent — Milton

Income Friedman
Hypothesis

Which of the following can be

measured by the level of real

GDP per person ?

(1) Productivity and the
standard of living.

(2) Productivity but not the
standard of living.

(3) The standard of living but
not productivity.

(4) Neither the standard of
living nor productivity.

Technical knowledge

(1) is the same thing as Human
capital.

(2) can be discovered but it can
never be kept secret.

@3) is a determinant of
productivity.

(4) does not play a role in the
relationship that economists
call the production function.
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107. A Country’s

108.

109.

Human capital

increases

(1) if its workers become better
educated or healthier.

(2) only if its workers become
better educated.

(3) only if its workers become
healthier.

(4) None of these

If the best educated and most

skilled person leave a country,

then in the short term this
country’s Human capital per
worker

(1) and physical capital
worker will increase.

(2) and physical capital per
worker will decrease.

(8) will increase but physical
capital per worker will
decrease.

(4) will decrease but physical
capital per worker will
increase.

per

Which of the following term is
used to refer to the ability of
people to exercise authority over

the resources they own ?
(1) Natural rights

(2) Property rights

(3) Input control

(4) Collective control
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110.

111.

112,

Accumulating capital
(1) that

sacrifice consumption goods

Requires society

in the present.

2)

Allow society to consume

more in the present.
(3
4

Decrease saving rates.

Involves no trade-offs.

If a country increases its saving
rate in the long run

(1) K/L ratio and productivity
will be higher.

(2) K/L ratio will be higher but
productivity will not be
higher.

(3) K/L ratio will not be higher
but productivity will be
higher.

(4) Neither K/ ratio nor
productivity will be higher.

The return to schooling for
society is higher than the return
to schooling for the individual if
(1) the concept of diminishing
marginal returns applies to

education.

(2) the concept of constant
returns to scale applies to
education.

(8) human capital conveys

positive externalities.

investment in Human capital
involves no opportunity costs.

@



113. euia INTE 1w feas a1y Jifera & 113. The phrase demonstration effect

™7 was coined by

(1) 3.3%. sy (1) J.K. Galbraith

(2) .. F (2) J.M. Keynes

(3) W%{Eﬁﬂ (8) James Dussenberry
(4) w7 Ufeea= (4) Joan Robinson

114. ATG-¥E1 qHARh fSweww fFes g 114. The technique of input-output

st i T ? analysis has been popularised by
1) T=9 (1) Nurkse

(2) ﬂw (2) Samuelson

(8) fernf=w (3) Leontiof

(@) @™ (4) Lange

115, Feafasiya 3w & YSft-3eares #1 7= 115. High value of capital-output ratio
ftres B < 58 vt WA SR AR - is favourable for an

] underdeveloped country if
M = XS Sl RS (1) it has to build up the

! T foeht wht ety infrastructure that involves
(gestation period) & | long gestation period.
@) mh s i awd) (2) its population is increasing.
3) T m o S = (3) its mnatural resources are

under-utilized.

(4) its labour productivity is
increasing.

1l
(4) THH 3w i IeeHaT 9 W |

116. 3nRfe gfg Hit T gegaa ok w=dt 2
(1) R H RN
C(2) T ™ F I WM W S S

116. The rate of Economic growth
mainly depends upon
(1) The rate of growth of the
labour force.

B PR SR

a7 2 o R Paw R 2 | (2) The proportion of National
Income saved and invested.
(3) T gUR it W (3) The rate of technological
@) Fmft improvements.

(4) All of these
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118.

119.
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118.

119.

example of Economic overhead ?
(1) Schools

(2) Sanitary facilities

(3) Hospitals

(4) Roads and Railways

The Physical Quality Of Life
Index (PQLI) Combines three
Indicators. They are

(1) Infant Mortality, Life
expectancy and Adult
Literacy rate.

(2) Crime rate, Clean
environment and Quality of
Housing.

(8) Air pollution rate, Water
pollution rate and Sanitation.

Health, Education
Environment.

@

and

Identify the model which is
concerned with the ‘Golden Age’
equilibrium.

(1) Kaldor model
(2) Joan Robinson model
(3 Keynesian model

(4) Domar model
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120.

121.

122,

The Total Fertility Rate (TFR) is

(1) The total number of children
born in a country in a given
year divided by Labour force.

(2) The number of children born
to the average woman during

her reproductive years.

(3) The number of Births in a
country divided by total

population in a given year.

(4) The number of women age
15-45 in a country divided by

total population.

Which one of the following is not

an example of Near Money ?

(1) Treasury bills of Government
of India.

(2) Equity shares of Ranbaxy
Laboratories.

3)

4)

Bill of Exchange.
Bonds and Debentures.

Kaldor’s Growth Model is based

on the following assumption :

I.  Output consists of wages and
profits only.

II. Investment output ratio is an
independent variable.

III. MPS and MPC are constant.

IV. There is less than full
employment.

Codes :
1) TandIV
(2) II and III
3) I and IV
(4) TandII
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123. Assertion (A)

124.

¢ Innovation in
field

innovations in related fields.

one rarely induce
Reason (R) : Once an innovation
profitable,

entrepreneurs follow it in

becomes other

‘Swarm like clusters’.

Codes :

(1) (A) is not correct and (R) is
correct.

(2) (A) is correct but (R) is not
correct.

(3) Both (A) and (R) are not
correct.

(4) Both (A) and (R) are correct.

Arrange the concepts of

Endogenous growth model in a
sequential order.

I. Production of ideas

by
Research.

II. Learning by (ioi.ng.

III. Learning by investment.
IV. Learning by watching,
Codes :

OO 1 I 1Iv
2 Iv I 1 11
@ I II v I

4 II IV I 1
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“afe W T =W H R W -

TRed de Wl § 17 39 STEuT i
Terem wfeafem e ¢

(1) =R
@) fewa
(8) wient
4) @

fRmE?

I $U3.W
II. 9fet T, AW
IT1. Tl 3. o
IV. 3R, dielt
R

(1) Iail

(2) IIIaen IV
(3) I, I qe 111
(4) II, I 9= IV

uftiferd  (FEIEE) dfd  afad
Hieet fhd I Sor W anaia & ?

(1) 3w
(2) HE-STeE
(3) g
@ Hiwm.

125.

126.

“A technical change is neutral if
at a constant rate of profit or
interest, the capital output ratio

also remains constant.” This

concept was propounded by —
(1) Kaldor
(2) Hicks
(3) Solow
(4) Harrod

Endogenous growth models have
been developed by —

I. Kenneth J. Arrow
II. Paul M. Romer
ITI. Robert E. Lucas
IV. R.M. Solow
Codes:

(1) ITandII

(2) III and IV

(3) I, II and III

(4) IL IIT and IV

. Embodied technical change mode]l

is- based on which production
function ?

(1) CES

(2) Cobb-Douglas
(3) Translog

(4) VES
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129.

130.
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HifR
-1 gf-11
A fgfmainas I Rfem
B. sciteR®  II. uid w=ieh
Tersrar arftremaw
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C. i oo 111 wew fary
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D. sgmefam IV, wigw
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A B C D
OIvi 1 1
@ II 1 IV III
@ II Mm 1 1Iv
4 I IV III II

FREBY (A) : F @ el fofy
% fore yrifes 78 @ |

HRU (R) : W GAEET $) 6 AW

A A E |
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(1) (A) 7 R) 3t & € a0 (R),

A) Hradt=reT g |

2 (A) T, Y R) TR |

(3) (A) 7wt (R) 3t @l &, ofeT R),
A) Pt =TT AE R |

(4) R) AR, AfeT (A) Toa R |

IerE % e &3 & wifver @

(1) S9i@Tg o6 %1 98 2w o i
WS FRE |

(2) ot @atl & o w1 faer

(3) T T@ait & A= =1 frn

@) = Wt & Sud o 9
T
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128. Match the correct pair from

129.

130.

List — I and List — II.

List-1I List - I1
A. Kinked I. William
Demand Curve Baumal
B. Sales II. Paul Sweezy
Maximization
Model of
Oligopoly
C. Social Welfare III. Adam Smith
Criteria
D. Law of IV. Bergsen
Invisible
Hand
Codes :
A B C D
O IvVIII I 11
@ I 1 1v o
G II OI 1 1V
@ I Iv I 11
Assertion (A) : Sunk costs are

not relevant to Economic
decision.

Reason (R) : The opportunity
cost of such resources is zero.

Codes :

(1) Both (A) and (R) are correct
and (R) is the correct
explanation of (A).

(2) (A) is correct but (R) is not
correct.

(3) Both (A) and (R) are correct,
but ®R) is incorrect
explanation of (A).

(4) R) is correct, but (A) is
incorrect.

An Economic region of production

consists of

(1) The portion of IQ lying above
the ridge lines.

(2) The portion lying between
the ridge lines.

(3) The portion lying below the

ridge lines.
(4) The portion lyving above and
~ below the ridge lines.



131. Frafeafea =1 fem =t

132.

133

-1 Th-11
A QEUHEER- [ U sl
fea wlieror
B. sffdfrg= II. 3. %W
C. smiNs II1. 4. @
T BRI
D. el i IV, Seen-faew
f{:
A B C D
O IvV I 1M 1
@2 IImIm v 1 11
G oI v 1 1
@ Iv I 1m 1
$ra frafor @l afie Hife feafa
T STt € 7

(1) st | slEr § 9w
e & g

(2) wrh ot~ &g

@) wWRel H awr § wW@w W
ieaTfed w7 F e

(4) I AR W ITET T A &
forg

I F R Q=C+dPF &I §
37U d %1 AF 33 B A 9 6 g

(1) ol SR
(2) quier SIeER
(3) TN ArER

(4) T SR
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131. Match the following :

132.

133.

List-1I List - 11
A. A Double I. A Bergsen
Kaldor-Hicks
Test
B. Compensation II. K.J. Arrow
Principle
C. Social Welfare III.T. Scitovsky
Function
D. Impossibility  IV. Kaldor-
theorem Hicks
Codes:
A B C D
O IvVv I m 1
@ III IV 1 1I
@ III IV 11T 1
@ IV III 1II 1

Predatory pricing policy is

designed to -
(1) Drive

business.

competitors out of

(2) Frame a legal activity.

(3) Encourage Entrants into the
market.

(4) Attain least cost output.

Consider a supply curve of the
form Q = C + dP. If d equals to
zero, then supply curve is

(1) Perfectly inelastic
(2) Perfectly elastic
(3) Relatively elastic
(4) Relatively inelastic
57



134.

135.

136.

57
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134.

135.

136.

You are analysing the demand for

good X. Which of the following

will result in a shift to the right

of the demand curve for X ?

(1) A decrease in the price of X.

(2) An increase in the price of a
good that is complement to
good X.

(8) An increase in the price of a

good that is a substitute for
X

(4) All of these

A consumer prefers market
basket A to market basket B, and
prefers market basket B to
market basket C. Therefore, A is
preferred to C.

The assumption that leads to the
conclusion is —

D
@
3

Transitivity.
Completeness.

Diminishing Marginal rate of
substitution.

Irrational behaviour of

@

consumer.

Which of the following is true
regarding income along a price
consumption curve ?

(1) Income is increasing.
(2) Income is decreasing.
(8) Income is constant.

(4) The level of income depends
on the level of utility.



137.

138.

139.

140.

Uyl 7 H I gfg N TEw
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137.

138.

139.

For consideration of issues such
as labour’s productivity growth
nationwide, the relevant measure
is the — '
product of the

(1) Marginal
labour.

(2) Average product of the
labour.

(3) Total product of the labour.
(4) Cost of capital.

A mathematical technique used

to solve constrained optimization

problem (finding the consumer

optimum for example) is —

(1) The method of Lagrange
Multiplier

(2) The Cobb-Douglas Method

(3) The Slustky Method

(4) The Hick Substitution
Method
As more and more firms have

acquired Fax machines, the fax

machine has become a standard

means of business

communication. The increase in

demand for fax machines for

business communication —

(1) is an example of the Snob
effect.

(2) proves that fax machine is a
normal good.

(3) is an example of Bandwagon

effect.

(4) is an example of a positive

network externality.

. The market structure in which

strategic considerations are most
important, is —

(1) Oligopoly

(2) Monopolistic Competition

(3) Pure Monopoly

(4) Pure Competition
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142,

143.

144,
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141.

142.

143.

144,

The Bandwagon effect
corresponds best to which of the
following ?

(1) Real Economies

(2) Technical Economies

(3) Negative Network externality
(4) Positive Network externality

Which of the following is true
concerning the substitution effect
of a decrease in price ?

(1) It will lead to an increase in
consumption only for a
Normal good.

It always lead to an increase
in consumption of all types of
goods.

It will lead to an increase in
consumption only for an
inferior good.

It will lead to an increase in
consumption only for a Giffin
good.

@)

3)

4

Which of the following is NOT a
cause of market failure ?

(1) Imperfect information
(2) Externalities
(8) Symmetric information
(4) Public goods

Locating a point on a utility
possibility frontier gives you
information about
(1) Both equity and efficiency.
(2) Equity but not efficiency.
(3) Efficiency but not equity.
(4) Profitability but
efficiency.

not
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] 147.
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145.

What does the negative slope of
the utilities possibilities frontier
imply ?

(1) Diminishing Marginal utility.

(2) The only way to increase one
person’s utility is to decrease
another person’s utility.

(3) Diminishing Marginal rates
of substitution.

(4) The only way to increase
output of one good is to
decrease output of another
good.

The statement “If everyone trade

in the competitive market place,

all mutually beneficial trades will

be completed, and the resulting

equilibrium allocation of

resources will be economically

efficient” is formally known as __

(1) The Law of Supply and
Demand.

(2) The first theorem of Supply
and Demand.

(8) The first theorem of Welfare
Economics.

(4) The first theorem  of
Efficiency in Economics.

Why does perfect competition
guarantee a Pareto optimal
distribution of goods between two
people ? Under perfect competition —

(1) Everyone has the same
preferences.

(2) Everyone faces the same
prices.

(3) Everyone consumes the same
quantity of both goods.

(4) Goods are not Homogeneous.
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148. The industry demand curve for
labour is the —
(1) Horizontal sum of individual
firm labour demand curves.
(2) Vertical sum of individual
- firm labour demand curves.
(3) Representative firm’s
demand curve multiplied by
- the number of firms.
(4) None of these

149. A Maximin strategy —

(1) Maximize the minimum gain
that can be earned.

(2) Maximizes the gain of one
player, but minimize the gain

of the opponent.
(3)

Minimize the maximum gain
that can be earned.

Involves a random choice
between two strategies, one
which maximizes potential
gain and one which
minimizes potential loss.

(4)

150. In the dominant firm model, the

fringe firms —
(1) are price takers.

(2) maximize profit by equating
average revenue and average
cost.

(3) determine their price and
output before the dominant
firm determines its price and

output.
(4) All of these
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